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1 A salesman'’s expenses and pay
, Salary 3500 Salary
3 Performance pay 2500 Performance pay
4 Pay for customers -1000 Pay for customers
s Food spending -1000 Food spending
g Hotel expenses -900 Hotel expenses
5 [Financial management 300 Financial management
o Dopost 400 | s

CascadeSparkline R %UH LA K &%

Option
pointsRange
pointIndex
labelsRange
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See Also

setFormu

JavaScript

acti veSheet. addSpan(0, 0, 1, 3);

activeSheet.getCell (0, 0, GC. Spread. Sheets. Sheet Area. vi ewport).val ue("A
sal esman' s expenses and pay").font (" 20px

Arial").hAlign(GC. Spread. Sheets. Hori zontal Ali gn.center).vAlign(CGC. Spread
. Sheets. Vertical Align.center).backCol or ("purple").foreCol or("white");
activeSheet. get Range(1, 2, 7, 1,

CC. Spr ead. Sheet s. Sheet Area. vi ewport) . set Bor der (new

CC. Spr ead. Sheet s. Li neBorder ("transparent”,

CC. Spread. Sheets.LineStyle.thin),{ inside: true });

activeSheet.setValue(1, 0, "Salary");
activeSheet. setVal ue(2, 0, "Performance pay");
activeSheet. setValue(3, 0, "Pay for custonmers");
activeSheet. set Val ue(4, 0, "Food spending");
activeSheet. set Val ue(5, 0, "Hotel expenses");
activeSheet. setValue(6, 0, "Financial managenent");
activeSheet.setValue(7, 0, "Deposit");
activeSheet. setVal ue(1, 1, 3500);

activeSheet. setValue(2, 1, 2500);

activeSheet. setValue(3, 1, -1000);
activeSheet. setVal ue(4, 1, -1000);
activeSheet. setVal ue(5, 1, -900);

activeSheet. set Val ue(6, 1, 300);
activeSheet.setFornul a(7, 1, '=sun(B2:B7)');
acti veSheet. set Col umW dt h( 0, 150);
activeSheet. set Col umwW dt h(1, 100);
activeSheet. set Col umwdt h(2, 340);

acti veSheet . set RowHei ght (0, 30);
acti veSheet. set RowHei ght (1, 30);
acti veSheet. set RowHei ght (2, 30);
activeSheet. set RowHei ght (3, 30);
acti veSheet . set RowHei ght (4, 30);
acti veSheet . set RowHei ght (5, 30);
acti veSheet. set RowHei ght (6, 30);
activeSheet. set RowHei ght (7, 30);
activeSheet. set Formul a(1, 2,

' ZCASCADESPARKLI NE( B2: B8, 1, A2: A8, ,
activeSheet. set Fornul a(2, 2,

' =CASCADESPARKLI NE( B2: B8, 2, A2: A8, ,
activeSheet. set Formul a(3, 2,

' =CASCADESPARKLI NE( B2: B8, 3, A2: A8, ,
activeSheet. set Formul a(4, 2,

' =CASCADESPARKLI NE( B2: B8, 4, A2: A8, ,
activeSheet. set Fornul a(5, 2,

' =CASCADESPARKLI NE( B2: B8, 5, A2: A8,
activeSheet. set Formul a(6, 2,

' =CASCADESPARKLI NE( B2: B8, 6, A2: A8, ,
activeSheet. set Fornul a(7, 2,

' =CASCADESPARKLI NE( B2: B8, 7, A2: A8,

"#8CBF64", "#D6604D", f al se)');

" #8CBF64" , "#D6604D", fal se)' )

"#8CBF64", "#D6604D", fal se)');

" #8CBF64" , "#D6604D", fal se)' )

" #8CBF64" , "#D6604D", fal se)' );

"#8CBF64" , "#D6604D", f al se)');

" #8CBF64" , "#D6604D", fal se)' );

la Method


http://help.grapecity.com/spread/SpreadSheets10/JavascriptLibrary~GC.Spread.Sheets.Worksheet~setFormula.html
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